



Pinellas County
ADMINISTRATIVE SERVICES

Joseph Lauro, Director
 Pinellas County Courthouse Annex Bldg., Sixth Floor, Clearwater, FL 33765

EVALUATION TABULATION

ITB-C No. 23-0496-ITB-C STEP 2

FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

RESPONSE DEADLINE: June 22, 2023 at 3:00 pm

Report Generated: Friday, September 15, 2023

SELECTED VENDOR TOTALS

Vendor	Total
Preferred Materials	\$21,231,025.00

GENERAL ROADWAY

Selected	Pay Item No.	General Roadway			Preferred Materials	
		Description	Quantity	Unit of Measure	Unit Price	Amount
X	102-1076	ADVANCED ARROW WARNING PANEL	2000	DAY	\$2.50	\$5,000.00
X	102-1099	SIGN, VARIABLE MESSAGE, 3 Lines, Temporary	2000	DAY	\$2.50	\$5,000.00
X	102-1100	OFF DUTY LAW ENFORCEMENT OFFICER	2000	HR	\$7.50	\$15,000.00
X	104-7	INLET PROTECTION SYSTEMS	2000	EA	\$20.00	\$40,000.00
X	120-0036	EXCAVATION 6" Thickness or less	4000	SY	\$18.50	\$74,000.00
X	234-1250-000	SUPERPAVE ASPHALT BASE, Type B 12.5, Variable Thickness	4000	TN	\$135.14	\$540,560.00
X	334-2095-460	SUPERPAVE ASPHALT CONCRETE, Leveling Course, Type SP 9.5 or SP 12.5, Fine, Traffic Level C, Variable Thickness	2000	TN	\$168.41	\$336,820.00
X	334-3095-000	SUPERPAVE ASPHALT CONCRETE, Type SP 9.5, Fine, Traffic Level C, Variable Thickness, Arterials/Collectors	15000	TN	\$177.04	\$2,655,600.00

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

General Roadway					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	334-3095-001	SUPERPAVE ASPHALT CONCRETE, Type SP 9.5 , Fine, Traffic Level C, Variable Thickness, Local Roads	15000	TN	\$176.20	\$2,643,000.00
X	334-3125-000	SUPERPAVE ASPHALT CONCRETE, Type SP 12.5, Fine, Traffic Level C, Variable Thickness, Arterials/Collectors	20000	TN	\$175.24	\$3,504,800.00
X	334-3125-001	SUPERPAVE ASPHALT CONCRETE, Type SP 12.5, Fine, Traffic Level C, Variable Thickness, Local Roads	33000	TN	\$173.27	\$5,717,910.00
X	334-3475-000	SUPERPAVE ASPHALT CONCRETE, Type SP 4.75, Fine, Traffic, Level C, Variable Thickness	1500	TN	\$190.00	\$285,000.00
X	340-4000	CRACK SEAL	1000	GAL	\$17.00	\$17,000.00
X	380-3005	MILLING EXISTING ASPHALT PAVEMENT, 2" Thickness or Less, Edge Mill, Spot/Butt Milling	10000	SY	\$3.51	\$35,100.00
X	380-3490	MILLING EXISTING ASPHALT PAVEMENT, 2" Thickness or Less, Full Width	800000	SY	\$2.86	\$2,288,000.00
X	380-3495	MILLING EXISTING ASPHALT PAVEMENT – More than 2" Thickness to 6" Thickness, Full Width	100000	SY	\$3.07	\$307,000.00
X	380-3505	HAULING OF MILLING MATERIAL TO THE LISTED COUNTY YARD	7500	SY	\$4.00	\$30,000.00
X	425-825-1000	Adjust Manhole Ring & Cover to Finished Grade, In Pavement, Riser Provided by Contractor	200	EA	\$160.00	\$32,000.00

Gator Increase:
\$168.51/tn

Gator Increase:
\$163.90/tn

Gator Current:
2.64/SY

Gator Current:
4.66/SY

***generally mill up to 1.5" and occasionally mill over 2".

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

General Roadway					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	425-825-1001	Adjust Manhole Ring & Cover to Finished Grade, In Pavement, Riser Provided by County	200	EA	\$25.00	\$5,000.00
X	575-3000	SHOULDER WITH SOD, Including Top Soil	15000	SY	\$4.00	\$60,000.00
X	575-3001	STABILIZED AGGREGATE SHOULDER	2000	CY	\$55.00	\$110,000.00
X	630-1-122	CONDUIT, SIGNALS, F & I, Underground, 2"	200	LF	\$19.50	\$3,900.00
X	630-1-132	CONDUIT, SIGNALS, F & I, Sawcut & Place under Existing Pavement, 2"	200	LF	\$36.80	\$7,360.00
X	630-2-12	CONDUIT, F & I, DIRECTIONAL BORE < 6"	1000	LF	\$36.80	\$36,800.00
X	635-1-11	PULL & JUNCTION BOXES, F & I, Pull Box	100	EA	\$500.00	\$50,000.00
X	660-2-100	LOOP ASSEMBLY, Type A, 6' x 20', F & I	100	AS	\$1,470.00	\$147,000.00
X	660-2-101	LOOP ASSEMBLY, Type A, 6' x 25', F & I	100	AS	\$1,470.00	\$147,000.00
X	660-2-102	LOOP ASSEMBLY, Type B, 6' X 6', F&I	30	AS	\$800.00	\$24,000.00
X	660-2-106	LOOP ASSEMBLY, Type F, 6' x 30', F&I	100	AS	\$800.00	\$80,000.00
X	660-3-2	SAW CUT LEAD-INS	3000	LF	\$19.50	\$58,500.00
X	660-3-3	CORE DRILL 2" THROUGH GUTTER FOR LOOP WINDOW, F&I, 2" SWEEP	20	AS	\$310.00	\$6,200.00
X	660-3-4	LEAD-IN CABLE (BELDEN WIRE)	4000	LF	\$5.65	\$22,600.00
X	705-11-1	DELINEATOR TUBULAR, FLEXIBLE	100	EA	\$125.00	\$12,500.00

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

General Roadway					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	706-3	PAVEMENT MARKERS, RETRO-REFLECTIVE	6000	EA	\$4.25	\$25,500.00
X	710-11-121	PAINTED PAVEMENT MARKING, STD, WHITE, SOLID, 6"	100000	LF	\$3.50	\$350,000.00
X	710-11-122	PAINTED PAVEMENT MARKING, STD, WHITE, SOLID, 8"	500	LF	\$3.50	\$1,750.00
X	710-11-123	PAINTED PAVEMENT MARKING, STD, WHITE, SOLID, 12"	4000	LF	\$3.50	\$14,000.00
X	710-11-124	PAINTED PAVEMENT MARKING, STD, WHITE, SOLID, 18"	500	LF	\$3.50	\$1,750.00
X	710-11-125	PAINTED PAVEMENT MARKING, STD, WHITE, SOLID, 24"	6000	LF	\$3.50	\$21,000.00
X	710-11-131	PAINTED PAVEMENT MARKING, STD, WHITE, 10'-30', SKIP, 6"	20	GM	\$570.00	\$11,400.00
X	710-11-141	PAINTED PAVEMENT MARKING, STD, WHITE, DOTTED/GUIDELINE/ 2' - 4' GAP EXTENSION 6"	200	LF	\$3.50	\$700.00
X	710-11-151	PAINTED PAVEMENT MARKING, STD, WHITE, DOTTED/GUIDELINE/ 6-10 GAP EXTENSION 6"	2000	LF	\$3.50	\$7,000.00
X	710-11-160	PAINTED PAVEMENT MARKING, STD, WHITE, MESSAGE	100	EA	\$45.00	\$4,500.00
X	710-11-170	PAINTED PAVEMENT MARKING, STD, WHITE, ARROWS	300	EA	\$45.00	\$13,500.00
X	710-11-190	PAINTED PAVEMENT MARKING, STD, WHITE, ISLAND NOSE	100	SF	\$5.75	\$575.00

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

General Roadway					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	710-11-221	PAINTED PAVEMENT MARKING, STD, YELLOW, SOLID, 6"	100000	LF	\$3.50	\$350,000.00
X	710-11-222	PAINTED PAVEMENT MARKING, STD, YELLOW, SOLID, 8"	500	LF	\$3.50	\$1,750.00
X	710-11-223	PAINTED PAVEMENT MARKING, STD, YELLOW, SOLID, 12"	500	LF	\$3.50	\$1,750.00
X	710-11-224	PAINTED PAVEMENT MARKING, STD, YELLOW, SOLID, 18"	1000	LF	\$3.50	\$3,500.00
X	710-11-225	PAINTED PAVEMENT MARKING, STD, YELLOW, SOLID, 24"	400	LF	\$3.50	\$1,400.00
X	710-11-231	PAINTED PAVEMENT MARKING, STD, YELLOW, SKIP, 6"	10	GM	\$575.00	\$5,750.00
X	710-11-241	PAINTED PAVEMENT MARKING, STD, YELLOW, DOTTED/GUIDELINE/2' - 4' GAP EXTENSION 6"	200	LF	\$3.50	\$700.00
X	710-11-251	PAINTED PAVEMENT MARKING, STD, YELLOW, DOTTED/GUIDELINE/ 6-10 GAP EXTENSION 6"	2000	LF	\$3.50	\$7,000.00
X	710-11-290	PAINTED PAVEMENT MARKING, STD, YELLOW, ISLAND NOSE	800	SF	\$5.75	\$4,600.00
X	710-11-421	PAINTED PAVEMENT MARKINGS, STD, BLUE, SOLID FOR PARKING LOT- ACCESSIBLE MARKINGS, 6"	500	LF	\$3.50	\$1,750.00

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

General Roadway					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	710-11-460	PAINTED PAVEMENT MARKINGS, STD, BLUE "HANDICAPPED SYMBOL", PARKING LOT, (2.7 sf w/ no background)	50	EA	\$120.00	\$6,000.00
X	711-17	THERMOPLASTIC, PAVEMENT MARKINGS, REMOVE	500	SF	\$10.00	\$5,000.00
X	900-500	CONTRACTOR FIELD REVIEW	500	HR	\$25.00	\$12,500.00
Total						\$20,156,025.00

UTILITIES

Utilities					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	PW-331101-309-9001	Adjust Valve Box to Finished Grade, in Pavement	200	EA	\$25.00	\$5,000.00
X	RW-333501-310-9001	Adjust Valve Box to Finished Grade, in Pavement	200	EA	\$25.00	\$5,000.00
X	SS-333900-302-K001	Adjust Manhole Ring & Cover to Finished Grade, in Pavement, Riser Provided by Utility Owner	200	EA	\$100.00	\$20,000.00
X	SS-333900-302-K002	Adjust Manhole Ring & Cover to Finished Grade, in Pavement, Riser Provided by Contractor	200	EA	\$100.00	\$20,000.00
Total						\$50,000.00

UNSPECIFIED WORK

Unspecified Work					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	999-0000	UNSPECIFIED WORK	1020000	EA	\$1.00	\$1,020,000.00

EVALUATION TABULATION
 ITB-C No. 23-0496-ITB-C STEP 2
 FY2024-2026 COUNTYWIDE PAVEMENT PRESERVATION STEP 2

Unspecified Work					Preferred Materials	
Selected	Pay Item No.	Description	Quantity	Unit of Measure	Unit Price	Amount
X	UT-999-0000	UNSPECIFIED WORK (Utilities)	5000	EA	\$1.00	\$5,000.00
Total						\$1,025,000.00